[bookmark: _GoBack][image: ][image: ][image: ]
image1.png
1. A sequence is defined recursively by the equation ax = a1+ 3, where a1=0.

Which of the following defines this sequence in function notation?
(ALFIFA3)

Uowr

So=3 (1)

2. What is the 8% term of the arithmetic sequence below? (A1 F.IF.A3)

19,13,7,1,5...

A 11
B 17
c 23
D 29

3. Which of the following represents an arithmetic sequence? Select all by
indicating Yes or No. (ALF.LEA.1)

ride. No

4. Which scenario represents exponential growth? (A1 FLE A 1)

A. Awater tank s flled at a rate of 2 gallons/minute.

B. A vine grows 6 inches every week.

C. Aspecies of fly doubles its population every month during the summer,

D. A car increases its distance from a garage as it travels at a constant speed of 25 miles per
hou.
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roatos the figures bolow using shaded and unshaded tles.

Figurel  Figure2  Figure3d  Figured

5. Which of the following functions gives the number of shaded square, S(n),

for figure n? (A1 F.BF.A.1a)
S@=n+2

S@)=8+2(a-1)

S@ =321

S(@) = (@+2)(a+2)-a(n)

6. Jake wrote the function /i) =—2 + 3/ - dz. Complete the table to determine
values of the function at various domains. (A1FIF.A2)

Domain Value
:3)
1)
0)
f2)

What is the range of the function f{xy=x’+3 if the domain is {~3, 0, 3}?
(ALFIFA1L ATFIFA2)

A (3,12

B.{-6,3.12}

C_all real numbers

D. all real numbers greater than or equal to 3
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8. Which equations represent an exponential function. Select all that apply

(ALFLEA3)
A E. y=3x?
B F. )=2x
c G.omy?
D.

9. What is the value of a S350 investment after 3 years with an interest rate of
4% compounded annually? (A1 F.LE.A.2)

A $618.68
B. $1.716.00
C. $1,509.20
D. $616.00

10. Erika buys a television. The value of the television after being owned different
‘numbers of years is shown in the table below.

Numberof | Value of TV
Years Owned
0 $600.00
2 $43350

Write an exponential function that models the value, ¥ in dollars, of the television
after £ years of being owned. (Al F.LE.A2)

Vo=





